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: i{a) B = W x"+2dy = =xy + 1D
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: Let x = depthof layerof oil; A = cross-sectional area Iny+1) = 0S5 In(x*+2) + C
B = W
Bialee * i y=2,x=1 = I3 =053 +C
1000A(20-x)g + 800Axg = 850A(20)g or 20-x)W(1 xW(0.8
( g 8 g ﬁnlgLL + 30 — C = 05In3
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In(y +1) = 05ln(x* + 2) + 0.5In3
X = 15 cm. y+1 = ¥3x*+6
x=2 = yil = V18
y = 3V2 —1 or 3.24
(b) (D)
retardation = 8 + kx 9l tan¥ = 0.2
9 =8 + k(5 @w 3
k = 02 y=02x18§

horizz Tcos® = 0 = cos® = 0
2> g = 9%° ) X
vdv = \%m +lLax
(i) W (1) 5
B = ...||l||¢I|w 20 o)
0.64 0 Xy
Nyo.m,\m_ = —[8x + x°
moments about a: 20 10 °
W (0.5) cosol. = B(l—0.5y)cos ot
2
032 = y~05% —200 = — 8, — 0.Ix,
¥ s Ay 068 =0 2
X, + mcf -~ 2000 = D
(y— 04)y —1.6) =0
d Y C:\ NS?Z. 100) = 0
y = 04 m,
x, = 20 metres
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